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A man holding a child while standing at the fence The horse and puppy are separated by the mesh
of an elephant zoo enclosure. fence.
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Client (Android)
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2020-06-18 14:31:55.054 8695-8822/com.example.android.camera2basic I/System.out: @.8=0ICF =4 A 2FE
2020-86-18 14:31:55.279 8695-8695/com.example.android.camera2basic I/System.out: 10ZE0(CH AEL 2 7|
2920-06-18 14:31:55.768 8695-8821/com.example.android.camera2basic I/System.out: O|O/A] T 37| : 119858
2020-06-18 14:31:55.779 8695-8821/com.example.android.camera2basic I/System.out: O|O/A] A& 23
2020-06-18 14:31:55.779 8695-8821/com.example.android.cameraZbasic I/System.out: 21 CHI|ZE

2020-06-18 14:31:55.855 8695-8822/com.example.android.camera2basic I/System.out: 0.8%0Ct 24 HI2ZE

2020-06-18 14:31:56.655 8695-8822/com.example.android.camera2basic I/System.out: 0.8%0Ct 24 HI2ZE

2020-06-18 14:31:57.456 8695-8822/com.example.android.camera2basic I/System.out: 0.8F0CH 24 HI2ZE

2020-06-18 14:31:58.255 8695-8822/com.example.android.camera2basic I/System.out: 0.8F0ICt =& HIAZE

2020-06-18 14:31:59.056 8695-8822/com.example.android.camera2basic I/System.out: 0.8FT0ICt S HIAZE

7020-06-18 14:31:59.856 8695-8822/com.example.android.camera2basic I/System.out: 0.8%=0IC S4 H2ZE

2020-06-18 14:32:00.656 8695-8822/com.example.android.camera2basic I/System.out: 8.8Z0{Cf S4 HI2AZ Saved: /storage/emulated/0/
’020-06-18 14:32:01.457 8695-8822/com.example.android.camera2basic I/System.out: 8.8F0IC) S4 AIE Android/data/

2020-06-18 14:32:02.257 8695-8822/com.example.android.camera2basic I/System.out: @.8FE0IC 24 A 2IF ?i‘l)erg}e;))(iig:;zle'andmid'cameraZbaSiC/
2020-06-18 14:32:02.962 8695-8821/com.example.android.camera2basic I/System.out: Bt= =& : St YA JF &= 2 AE otHM HOI= o StoF 2UCE .
2020-86-18 14:32:03.057 8695-8822/com.example.android.camera2basic I/System.out: @.8F0ICH 24 HIAFE

2020-06-18 14:32:03.859 8695-8822/com.example.android.camera2basic I/System.out: @.8F0ICH 24 HIAZE

2020-06-18 14:32:04.658 8695-8822/com.example.android.camera2basic I/System.out: @.8=0(CH 24 HI3ZE 1 ) ) 1 ) 1 _
2020-06-18 14:32:05.284 8695-8695/com.example.android.camera2basic I/System.out: 10Z=0(CH AFFE Z 2| 4:32:02.962 — 14:31:55.279 = 7.683
2020-06-18 14:32:05.458 8695-8822/com.example.android.camera2basic I/System.out: 8.8%=0iICH 24 HIZ
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System Testing Results




Pass / Fail Criteria




Final Iteration A=l
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